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Translate into English the section of the following passage indicated between the asterisks. A translation
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of the rest of the passage appears on the facing page.

1.  The Athenians were afraid that Paphlagonians were likely to kidnap some of their soldiers,
so they invited their envoys to a banquet at which they hoped they could negotiate a
peace agreement. At the banquet some Thracians provided entertainment by performing very

[35 marks]

elaborate dancing.
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Xxxx-2951

gnel 8¢ omovdol Te £yévovio wal  Emoldvicay,
avéotnoav TEATOV pEV Oplxeg ol TEOG  AOAOV
®QYNOAVTO GLV TOIG OTAOIG x0l HALOVTO DYNAG TE %ol
KOVPOG XKOL TOIG HOXaLQOLG £XQ@VTO" TEANOG 3& O ETEQOG
TOV ETEQOV TALEL, A TTAGLY £30XEL.

*0 8 Emece TEXVX®G TWOG. XAl AVEXQOYOV ol
ITagrayoves. xal O pev oxvredoag Ta OTAa TOD £TEQOL
g&net @dwv TOV ZitdAxave GAAOL 8E TAV OQEx®BV TOV
€tegov £E€pegov ac TEBVOTO Tiv 88 00deV TETOVAXC.
usrd TOUTO Aiw&veg %ol Mdyvnreg dvécrncav ol
mgxovvro ™mv xagnouav xakouusvnv &V TOLG onkou; 0 8¢
rgonog 'cng doxNoewe My, 6 uev Tcocgocesuevog Ta OmAQ
omelgel xal CELYNAATEL, TLUXVA O OTEEQPOUEVOS @G
cpoBouusvog, chrng 8¢ ngoosgxsrou 0 & émeidav
TEotdnTat, AmavTd agnaoag TO OTTAO. %01 payeTon ngo
Tob {edyoug” %ot 00TOL TaUT £moiovv £v QUON® TTEOG TOV
avAdv. %ol Téhog 6 ANoThg dMoog TOV Evdo xai TO
Ledyog amdyer éviote 8 »ai 0 CevyNAGTNG TOV ANGTAV:
giTa moa Tovg Povg Levtag omicm To xEige dedepdvov
gnadver.*

ue'ta TOUTO Muooc; 8tcmk98v ev 8xorcsga ™ XSLQI
sxmv Traan %0l TOTE MEV @C OVO avrwarrouevwv
HILOVUEVOG BOXEITO, TOTE 8 Mg TEOG &va &xofiTo TOic
néktarg, ToTe & £8iveito wol EEexvPicta Exov TAC
TEATAG, ¥oTE SPLv xaAnv poivechar.

XENOPHON Anabasis 6.1.5-9
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After they had made libations and sung the paean, two Thracians rose up first and began|
a dance in full armour to the music of a flute, leaping high and lightly and using their
sabres; finally, one struck the other, as everybody thought.

After this a Mysian came in carrying a light shield in each hand, and at one moment in
his dance he would go through a pantomime as though two men were arrayed against
him, again he would use his shields as though against one antagonist, and again he would Total marks
whirl and throw somesaults while holding the shields inhis hands, so that the spectacle
was a fine one.

C. L. Brownson (adapted)

Xxxx-2951
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Each word is assigned 0 or 1 or 2 points. Those worth 1 or 2 points indicate this value immediately
following the word, while those with zero points have no numerical indication.

A 1-point word (for example, an adverb or conjunction) needs only a correct translation to get the point.
For a two-point word, if the translation persuades you that the candidate understands the meaning of the
word, one point is awarded; if the candidate persuades you that the grammar of the word is understood,
then the second point is awarded.

When two words are joined by “ ” they are to be treated as one word. A two-word phrase worth
two points includes one point for vocabulary and one point for grammar. The vocabulary point is
awarded only if both words are translated correctly in context; a vocabulary error in either or both words
results in no points for vocabulary. The grammar point is awarded if the phrase’s grammar is
understood correctly.

The maximum number of points is 140.
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1.
6@ & Zrmece® TEXVIXOCQ TOG.@ X0l GvéxQayovg ol ITagpraydves.@ 10
%ol O uev oxvredooc® T Smho@® TOL £TéQovg Eincig Gdwve

1OV S1Tdhxav® JAhol® S8@ TOV Ogaxdve TOV EteQove EEEpeQove

0ce TEbVMOTO'e Tve &0 ovdive TETOVONC.e 31
LETO _TOVUTO@ Aividvece x0i Mayvntecg GvEoTHoOV.@ 7
ol®@ MQYOUVTO@ TTNV XAQMOl0vVE XOAOLUEVIIVEG £V TOIC OTAOLC.@ 10
0 3¢ TQémoce Tiic OQxNcEnce Tv.@ 6
0 HEV TIAQUOENEVOCE 1o §mha® OTeilgelg xal (evynhatel,@ 8
oxva@® O OTEEQOUEVOGH K@ PoPoluevoc.e 7
MoTice & MQOCEQIETOL® (@ & £meidive TeOtNTaLe 9
anoviie GOTAcUCE® T4 Sma® Yol HOYXETOL® TQO@ 9
T0D (EUYOUC'® xai obTol® TOUT® £molovv® &£V QUilde TQOCe 11
oV aordv'e ol Téhocg O Anotnce OMoace TOV Gvdoue 9
%ol O (eDyoce GMAvEl® &viote® o8 xai@ O CELVYMMATNGe 8
TOV AMoTive eita@® TOQU@ Tovs Bolce C(ebéace omicwne 9
T XEIQE@ dedeuévove chavvel@ 6

TOTAL: 140
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Answer four questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Iliad 6.160-180

160 7@ d¢ yvwn Ilpoirov émeurivaro, 3 "Avreia,
kpumTadiy GINSTNTL puiyfuevar GAAG TOY of Tu
metd dyaba ppovéovra, daippova BeAlepopdvrny.
n 0¢ revaauévn Ilpotrov Bacilfa mpoonida:
‘rebvains, & Ilpotr’, ) kdkrave BehAepoddvrny,

165 Os w &fehev PpuNdTyTL piyfueval ovk éfelovon.’
®s ¢dro, Tov d¢ &vakra XOAos Aafev olov dxovoe:
kTelvar pév p’ GAéewe, ceBdooaro yap 16 ye Buud,

/ / / ’ Y e / /
méume 0€ pw Avkinvde, moper & 6 ye onuara Avypa,
ypayras év wivake mTukT® OGvpodpBdpa moAd,

~ > / ol ~ v 3 P,

170  detéar & Nrdyew © mevbepd, Spp’ amdhoiro.

3 N\ [ 4 ~ / ~ ¢ % 9 / ~
avrap 6 B Avkinvde Oedy vm audpovt wouTH.
aAN’ 8re &) Avkipy e Edvlov Te péovra,

/ ~ ¥ I 3 I
mpodpovéws uw Tier dva Avkins edpelns:
évvipap Eelviooe kal évvéa Bods iépevaev.

175 aAX’ 8re 07 dexdrn édpdvn pododakrvios Hds,
kal ToTe piw épéewe kal fiTee ojua idéobar,
8r7u pa ot yapuBpoto mapa Ilpoiroo péporro.

) N\ 3 \ \ ~ \ /4 "
avrap émel O oifjpa kaxoy mapedéfaro yauBpod,
mpdTov péy pa Xipapav duaipaxérny éxélevae

14

180 mwepreuer:

(a) Translate 7‘661}0.5175‘ éee}\O’le‘n. (lines 164-165). [3 marks]
(b) Scan lines 167-168 (kTelvar uév ... \vypd). [2 marks]

(©) 0'1;;,La'ra )\vypé (line 168). What do these words suggest about the skills
available at the time? [2 marks]
(d) What do the actions of Proitos and of the Lycian king suggest about their attitude
to killing? [3 marks]
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Genre: Epic

Question 2. Homer Iliad 6.342-358

(@)

(b)

(©)

A
Qs ¢aro, Tov & od TL mpocédn kopvbaiohos “Exrwp:
Tov & ‘EXévn wiboiar mpoonida pekiylotoe:
“daep éuelo kuvOS kakoumxXavov GKkpvOETams,
345 s w OpeX’ fuart TG 8T pe mpdTOY TéKE PAT
B fipare 7§ 8re pe mp piTnp
¥ V4 \ 3y 7 /
oixeafar wpopépovaa kaky avéuoro GveAla
3, \ ~
els dpos ) els kDua molvglolocBoio Bakagars,
b4 A 3 4 / / ) /4
évfa pe kB amdepoe mapos Tade épya yevéatal.
3 N\ b ) \ A y \ \ 7
avrap €mel Tade y @Oe Oeol kaka Tekunpavro,
350 awdpos émer’ dpelov duelvovos elvar dxouris,
4 L4 /4 /. \ ¥y ’ > 3 7
0s Non véueaily Te kal aloyea wOAN' davbpdrwy.
/ 3 P ~ 4 ¥y ¥ ¥ 3y 3 &
ToUTe O o¥r &p viv Ppéves Eumedol ovr’ &p’ dmlcow
éooovrar T® kal pw émavproesbar Slw.
GAN’ dye viv eloelbe kal Eleo TRY éml digpw,
355 daep, émel oe palioTa wovos ppévas aucpiBéBnkey
(7] Y ) ~ \ \ ! [ >
€lve’ éueto kvros kal "Alefavdpov €vek’ arnys,
P 3\ \ ~ \ 4 € \ 3
olow émi Zevs Onke kakoy popov, ®s kal OTioow
r) 4 4 3 Y 7 p) / »
avbpamoiot weAdued doildiuor éooopévoiot.

Relate briefly what Hector said to Paris and Paris to Hector in the passage
immediately before this one. [2 marks]

@s kal dmicow ... mapédoaay (lines 357-358). Comment on the response of
modern readers to these words. [2 marks]

Explain what this passage reveals about the characters of Hector, Paris and Helen?
In the case of Helen and Paris extra credit will be awarded for using the Greek. [8 marks]

Turn over
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Genre: Historiography

Question 3.

(a)

(b)

(©)

(d)

10

Thucydides 2.36

Y X bl \ ~ d ~ / \
Apopar d¢ amd Tdv mpoydvwy mpdTovt bdikatov yap
b ~ \ / \ d b} ~ ~ \ \ /
avTols kal mwpémoy O¢ Gua &y TO TOde TNV TNV TAUTNY
~ / /! \ \ 4 < b \ 3\ 3 ~
TS pvuns 0ldoclat. Tny yap x@pav ol avrol alel oikodVTeEs
dradoxfi TAY émyryvouévwy péxpt Todde éNevbépav O dperyy
n yLyvop peXp P PETY)
4 ~ ¥ ~
mapeédoocav.  kal éxetvol Te &l emalvov kal & palov ol
TaTépes NUGY* KkTnoduevor yap mpos ols €défavro Somy
Exoper apxMy ok amdvws Nuily Tols vy mpookaréAimwov.
Ta d¢ mAelw avri)s avrol fuels olde of viv érL dvres pdAioTa
p) ~ < b / A \ ’ ~
& T kabeornkvie Hhwkle émuéfoauer kal ™y wéAw Tols
maoL mapeockevdoapey kal és mONemov kal &s elpnyny avTapk-
eocTaTNY.

What was the occasion of this speech and who delivered it?

Translate 7Y yap x@pav ... mapédoaav (lines 3-5).

kal €rt HaMov ol '7ra'r€'p65‘ (lines 5-6). What two classes is the speaker
referring to here? Which, in his opinion, is more deserving of praise, and why?

olde of viv éri Svres ... avrapkesTdrny (lines 8-11). What does the
speaker claim on behalf of his own generation?

[2 marks]

[3 marks]

[3 marks]

[2 marks]
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Genre: Historiography

Question 4. Thucydides 2.54

~ /
Towodre pév waber of *Abfnvaior mwepimeadvres émiélovro,
bl V4 ) ¥ 7 h ~ ¥ / i
abpdrwy T évdov GunokdvTwy kal yijs €w dnovuérns. év
~ ~ o ~ ~ ¥
0¢ T® kakd ola elkos dveuviobnoav kal Tobde ToD Emovs,
¢pdokovres oi mperPBirepor mahar ddedbar ‘et Awpiakos
5 mONemos kal Aowuos dp’ adt®.  éyévero wev ody épis Tols
. pos &’ adrd.  Eyévero p p -
-3 /7 \ \ 3 14 b ~ e _\ ~ ~
avBpamols p1) Aouuov wvopacbal év TH EmeL UTO TOY TaAAaLOY,
3 \ ’ b /7 \ bl \ ~ 'é bl / \
aANG Aoy, €viknoe O0€ €ml TOD TaPOVTOS €LKOTWS AOLUOV
~ b4 Q 4
elpnobar of yap avbpwmor mpos & émacyov THY uviunY
¢mototyTo. v € ye olual wore dANos moNeuos karaldfs
‘ . 7w 3 ye olpal 7 s moAep n
by ~ 14 A\ ~ A 4 \ \
10  Awpikos TOU§€ UOTEPOS KAl fv,u,By yevéoOal Atuov, kata TO
\ ¢/
€lk0s oUTWS aoovTal.

() fée. Awpiakos ... & adTd (lines 4-5). Name the metre in which this line
is written (or scan it); why was this metre chosen? [2 marks]

(b) What do we learn from this passage about Thucydides’ attitude to the
supernatural? [2 marks]

(c) Take any two groups addressed by Pericles, explain his argument in each case
and assess how effective it was likely to be (a) to it’s original audience and
(b) to a modern one. [8 marks]

Turn over



Genre: Tragedy

Question 5.

(a)

(b)

(©)
(d)
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Sophocles Oedipus Tyrannus 84-102
O.  7dx elcduecha- Ebuuerpoc yap e kAvew.
85 dva, éuov kidevua, mai Mevoucéwe,
TV’ Yuiv fkecc Tov Beod driuny dépwy;
KPEQN
éclAiv- Aéyw yap kai Ta 8vcdop’, €l TiyoL
kat’ 6pbov ééidvra, mdvr' dv evTuyeiv.
O.. écTwv 0¢ moiov Tolmoc; olTe yap fpacic

90 00T’ ovv mpodeicac eiul T ye viv Adyw.

Kp. el tavde yprilewc mAncialdvrwy kAvew,
€TOINLOC €LTTELY, €LTE KAl CTELYEWY €Cw.

O.  écmdvrac adda. Tdvde yap mAéov ¢pépw
76 mévBoc 7 kal mjc éurc Yuyric mépt.

95 Kp. Aéyowu’ dv ol jxovca 100 feov mdpa.
dvwyev udc Poifoc éudavic, dvaé,
piacpa ydpac, we relpappévov xbovi
év ™ 8’, édavvew und’ dvijkectov Tpédew.

O.. moiw kabapud; tic 6 Tpémoc Mic fvudopdc;
100 Kp. dvbpnAatovvrac, 7 ¢pévew ¢évov mdAw
Adovrac, dc 768° alpa xeyuwdlov m6Aw.
O.  moiov ydp dvpoc ™ivde unviel Toxnv;

Tdx’ €lcopecha ... kAvew (line 84). Explain how this line serves partly as

a stage direction. [2 marks]
Translate €écTiv 8€ oiov ... viv ASyw (lines 89-90). [3 marks]
[2 marks]

Scan lines 96-97

(dvwyev ... xfovi)

What problem is Oedipus trying to solve in this passage and what two things
does he learn from Creon? [3 marks]



Genre: Tragedy

Question 6.

(a)

(b)

(©)

O..

1055

Io.

O..

1060 lo.

O..

Io.

1065 Ou.

Io.

O..

Io.

O..

1070
lo.
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Sophocles Oedipus Tyrannus 1054—1072

yuvai, voeic ékeivov, GvTiv’ dpTiwc

poleiv édiéuecla; T6v8’ ovToc Aéyel;

7( 8’ Sy’ elme; undév évrpamic. pdmy
pnévra BovAov undé peuvichar rdde.

oUk Gv yévoiro 1oul’, STwc éyw AaBarv
cpueia TotadT’ oV davd Todudv yévoc.

u1 mpoc Bewv, eimep T ToU cavTov Biov
k18, parevcnc 1006 dAic vocoic’ éyd.
Odpcec cv pév yap ovd’ éav tpityc éyw
unTpoc pavd Tpidovdoc, éxdavi kaxy.
Spuwc mbov pot, Aiccopar un dpd Tdde.
ovk v mboiunv un ov 1d8’° éxualbeiv caddc.
kali unv gpovoivcd y’ €U Td A@cTd col Aéyw.
Td Adcra Toivuy TaiTd u’ dAyivel mddad.

w OvcmoTy’, €lfle uimore yvoinc Sc el

déet Tic éA0v Sevpo Tov Bomipd pot;
Tavmy 8’ édTe mAovciw yaipew yével.

{0V {oU, dUctmve: TovTO Ydp C Exw

uévov mpocevmeiv, AAdo 8’ odimol’ Tcrepov.

€xeivov (line 1054). Who is this person and why is he important for the plot?

fdpcer ... kakij (lines 1062-1063). How do these lines illustrate Oedipus’

misunderstanding of Jocasta?

Analyse this passage as an example of Sophocles’ dramatic skill.

[2 marks]

[2 marks]

[8 marks]

Turn over
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Genre: Comedy

Question 7. Aristophanes Frogs 38-51

HPAKAHZ
/’ \ / p / < ~
Tis ™y Olpav émaralev; @S KevTAVPLKDS
Yy /7 ) w hd ’/ \ /7
evnhal’ ooTist elme pol TouTl T MU;

A 6 wals. Ea. viéoTw; At odk évebuuidns;
40 Ha. @8 il
Ea. 70 Ti;

Au. @s opodpa 1 Edetae. Ea. vy Ala w) paivows ye.

Hp. od Tou pa ™y Anfunrpa dvvapar uy yeAav:
e / > 2 ’ p) )y e ~
kaiTol dakvw ¥ éuavrdv: AN Guws yeld.
Au. & daudvie mpdoeNber déopatl ydp T( Tov.
45  Hp. @A\’ 0dx olds 7’ €ln’ dmoooBioar Tov yéAwy
0pdY AeovThy éml KPOKWT® Kepuévny.
’ ¢ ~ 7 ’ \ e 14
T{s 6 vovs; T( kdfopvos kal pdmalov EvwnAberny;

woL yiis amednueLs; Au.  émeBarevor Khewobéver—
Hp. kdvavudaxnoas; Au  kal karedioauéy ye vads
50 TGOV Toheplwy 7 ddex’ 7) Tpels kal déka.
Hp. 0¢pd; Au. v Tov "AmoNAw. Ea. «kar éywy
e&nypduny.
(a) Translate Tis T1\]v Gﬁpav ...Toutl T( N (lines 38-39). [3 marks]

(b) Why is Heracles so surprised to see A€OUTNY €Tl KPOKWT® K€U
(line 46). [3 marks]

(c) Scan lines 45 (GAN’ oD ... yéAwv) and 49 (kGvavudynoas ... ye vads).  [2 marks]

(d) Explain the joke that ends éfn'ypo'pfr]v line 51. [2 marks]
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Genre: Comedy

Question 8. Aristophanes Frogs 1515-1527

1515 AL radra moujcw* ov d¢ Tov Oakov
TOV éuov mapados SopokAel Tnpely
a\ 8 /{ A\ ¥ 3 7
kal dracelew, My dp’ éyd mote
delp’ dplkwpat. TodTOY Yap éyd
/. / L)
copla kplvew dedrepov elvar.
/ ) o [4 ~ 9 N\
1520 pépvnoo O 6mws O wavodpyos avnp
kal YevdoAdyos kal Bwpoldyos
4 L | \ ~ \ p) \
pndémor’ és Tov Bakov TOV éuov
Y ¥ 3 ~
und” akwy éykabedetral.
IIA.  ¢aivere Tolvvr Vueis TovTe
1525 Aaumadas lepds, xdua mpoméumere
TOLoW TOUTOV TODTOV WéNETLY
kal poATalow KeAadovyTes.

(@) o Tavovpyos &m‘]p (line 1520). Who was this and why did Aeschylus
disapprove of him?

(b) Give two other adjectives in this passage used by Aeschylus of the person alluded
to in (a) and translate them.

(c) How effective is this passage as the climax of the play?

[2 marks]

[2 marks]

[8 marks]

Turn over
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Genre: Philosophy

Question 9. Plato Crito 44a5—44c5

(@)

(b)

(©)

(d)

10

15

20

2. OV rolvww T7s émovans nuépas oluar avro HEEw
N

p) \ o] ¢ 7 4 N Y b} 7 A ¢/
dAA& T7)s éTépas. Texpaipopar d¢ ék Twos évvmviov O éd-
paka OAlyov mwpdTepov TavTns Tis VUKTOS' Kal Kwdvvevels év
Kalp®d TwL ovk €yetpal pe.

KP. "Hv d¢ oy 1({ 70 &vimviov;

~ /

2. ’Eddkel Tis poi yuvn) mpooerboioa kaly kal evedns,

Aevka ipdtia éxovoa, kaAéoal ue kal elmetr: “"Q Zdkpares,

b4 / / / Yy / ¢ »
nuati kev Tpirare POy épiBwlov ikoio.

KP. "Aromov 10 évimviov, @ Sdkpares.

2Q. ’Evapyés pev oy, ds yé pou doxel, & Kpirwy.

KP. Alav ye, s &owkev. AN, @ daiudvie Sdxpares,
s \ ~ p) \ ~ A\ 4 < 3 4 N N2
€Tl kat vUv €uol mhol kal cwlnris ws éuol, éav ov amo-

/ b 14 9 \ ~ ~
Bavns, ov pla cuudopa éoTiw, GAAL Xwpls ey ToD éoTep-
ofar TowoUTov émirndeiov olor éyw oldéva uin more evpiow,
€Tt 0¢ kal moAAols 80w, of éué kal o¢ un capds loaow,
€ /! I % 4 y ¥ 9 7 /
ws olos T @v ge oolew e nlehov dvalickew xpinara,
bJ ~ /7 TR b] 7 ¥, / 4 A\ ~
apeNfjoat.  kaitor Tis av aloxiwy € Tadvrys ddfa % dokely

/ \ 7 ~ A / > N 14
Xprpara mwept wAelovos moietofar ) ¢pilovs; ov yap weloov-

[4 \ < \ 3 A\ ) Yy / ) '3 pJ /

Tar ol MoAAolL ws ov auTos ovk NleAnoas amiévar €vBevde
UGy mpobupovuévwr.

When does Socrates think he will have to die? What is his evidence?

Translate ¥ ATomov 70 évvmviov ... @s &oikev (lines 9-11).

What does Crito want Socrates to do?

What two reasons does Crito put forward to persuade Socrates to take

his advice?

[3 marks]

[3 marks]

[2 marks]

[2 marks]
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Genre: Philosophy

Question 10. Plato Crito 54b2-54d1
>y » ~ ~ ~ ~
“ANN, & Zdkpares, meddpeves nuly Tols dols Tpodeva
14 ~ \ 'd ~ / \ ~ 4 )24
unre maidas mwepl wAelovos mowov ijTe TO (Nv pNTE dANO
pndév mwpo Tov dwkalov; twa els “Awov éNbov éxns wdvra
~ 9 / ~ bl ~ $ 4 \ p] A
TavTa amoloynoacfar Tols éker apxovoiw: ovTe yap évfade
5 oou ¢pailverar TavTa TpATTOUTL dpuElwoy €lval oUdE dikaloTepoy
AN < 4 AN P4 ~ ~ ) / P4 I A
0v0€ 00LWTEPOY, 0V0E GAN® TGV ooy ovdevi, oUTe ékeloe
h) / & sof 3 \ ~ \ ) 14 b4
APLKOMEV® AUEWOY €0Tal. GAAG VUV MEV T)0LKNUELOS ATTEL,
éav amins, odx V¢’ Nudy TOV viuwyr dANa Ur dvbpdmwy
{5 DX Nk Iz P
BB \ Y ~! 14 b ~ 3 o 14 \ 9
dav B¢ é£eNOns oltws aloxpds avradikijoas T€ Kal AvTika-
/ ~
10  kovpynoas, Tas cavTod Opoloylas Te kal gvvdnkas Tas wpos
~ AN /
nuas mwapaBas kal kakd épyacduevos TovTovs obs 7kioTa
¥ 4 \ 7 \ 74 \ < ~ < ~ /
édet, cavrTov Te kal pilovs kal marpida Kal Muas, Nuels TE
~ ~ ) ~ ¢ ¢ 4 p) \ ¢ 2
oot xahemavovper (OvTi, Kal €kel oi TMueéTepor adeAcpol oi év
(4 ’ > > ~ ¢ /4 PN 1% \
Awov vduor olk €eduevis ae vmodéfovrar, €lddres Ori kal
< ~ p) /7 2 /4 \ \ / 3 \ /
15 7nuas émexeipnoas amoAéoal TO OOV MEPOS. aAAa un o€
/7 2 -~ & 4 ~ N\ ¢ ~
meion Kpitwv moiely & Aéyelr paAlov 1) npuels.

(a) What or who is referred to as 7€Ts in this passage? What is their justification
for speaking? [2 marks]
(b) Summarise the argument of the Laws put forward in this passage. [2 marks]

(c) Discuss the rhetoric of this passage. [8 marks]
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Epic

(@)

(b)
(©)

(d)

(@)

(b)
(©)
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[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number, etc.). Answers with two or three minor errors or one major error should
be awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

That formal literacy had not yet developed widely [1 mark] so that Homer (or his source) did
not know how to interpret writing [1 mark]. Other views on their merits,

Killing was taboo [1 mark] but sometimes necessary [1 mark]. Then it was necessary
to avoid the subsequent pollution by arranging but not performing the act [1 mark].
Other ideas on their merits.

[10 marks]

Hector had rebuked Paris for failing in his duty [1 mark]; Paris had responded by admitting
his faults and promising to do better [1 mark].

Astonishment [1 mark] that that was still true [1 mark]. Other views on their merits.

Hector is aloof [1 mark] as shown by his reaction to Paris [1 mark]; Paris is despised as a
coward [1 mark] as shown by Helen’s contempt [1 mark]; Helen is full of guilt for herself
[1 mark] as shown by her speech [1 mark]. An extra [1 or 2 marks] should be awarded for
using the greek accurately in relation to Paris and Helen.

[12 marks]
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Historiography

3.

(@)
(b)

(©)

(d)

(@)

(b)

(©

A ceremony for Athens’ dead soldiers [1 mark] presided over by Pericles [1 mark].

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

The ancestors [1 mark] and the fathers of the present generation [1 mark] who had added an
empire to the advantages of being Athenian [1 mark].

They have consolidated the work of empire [1 mark] and made it safe [1 mark].
[10 marks]

Dactylic hexameter [1 mark]; the noblest of metres [1 mark].

Either: In this passage, Thucydides reveals his contempt for the supernatural by his account of
the Aownog Awpog issue [1 mark] for the issue [1 mark] extra for the Greek.

Or: His apparently more understanding attitude towards the oracle that encouraged the
Spartans [1 mark] was undermined by his observation that the oracle was fulfilled in a very
unexpected way [1 mark].

[2 marks] for each valid example well described; also, in each case [1 mark] for the probable
response of the original audience and [1 mark] for the probable response of a
modern audience.

[12 marks]



Tragedy

(b)

(©)

(d)

(b)

(©)
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It instructs Creon to enter [1 mark] and reminds the spectators of where he has been [1 mark].
Or the like.

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

Why is there a plague [1 mark]; it is necessary to cleanse pollution [1 mark] which will
involve exile or death [1 mark].
[10 marks]

The Ogodnmv (Herdsman) [1 mark] who is important because he knows the whole story
[1 mark].

He thinks she is concerned for her social status [1 mark] if he turns about to be of lowly birth
[1 mark].

The dramatic skill has already been established [1 mark] by the way Oedipus has heard
details of Messenger’s report [1 mark] that make him think that all is well [1 mark] but reveal
to Jocasta [1 mark] (formerly optimistic [1 mark]) the horror of the situation [1 mark].
She tries to persuade him not to continue the investigation [1 mark] by summoning Laius’
shepherd [1 mark]. Oedipus begins to be irritated by Jocasta [1 mark] while she becomes
more and more desperate [1 mark] until she leaves [1 mark] telling Oedipus that that he will
not hear her again [1 mark]. The audience has known the truth throughout [1 mark] and now
knows (or guesses) that she is about to Kill herself [1 mark]. Award no more than six of
these points. Award up to two more points for the candidates skill in relating the points to the
issue of dramatic skill.

[12 marks]



Comedy

(b)

(©)
(d)

(b)

(©)
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[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

The Agovti symbolises Heracles [1 mark], the crocus-covered garments symbolise Bacchus
(Dionysus) [1 mark]; but they were incompatible [1 mark].

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

Their boasting is soon bought to an end [1 mark] by Xanthias’ admission that he woke up,
thus showing that his boasting was a dream [1 mark].
[10 marks]

Euripides was the man [1 mark], despised by Aeschylus for all sorts of reasons [1 mark].

[1 mark] for each of two words provided they are correctly translated. Obvious choices:
hevdoroyog, Peporoyog (liar, buffoon).

The play has been a mixture of buffoonery [1 mark] and serious literary criticism [1 mark],
the competition between the three great tragedians, Aeschylus [1 mark], Sophocles [1 mark]
and Euripides [1 mark]. The competition ends in peace and harmony [1 mark], Aeschylus
and Sophocles are reconciled [1 mark]. The peace of the play is given also to Athens [1
mark] and all can unite in condemning the demagogue [1 mark], Cleophon. Award up to six
of these points. Award up to two more points for the candidate’s skill in relating the points to
the climax of the play.

[12 marks]
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Philosophy

9.

10.

(@)

(b)

(©)
(d)

(@)

(b)

(©)

The day after the sacred ship arrives [1 mark] is to be the day he dies [1 mark], but he has had
a dream [1 mark].

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

To accept financial gifts [1 mark] and leave the city [1 mark].

That he is needed to teach the young [1 mark] and that the reputation of Crito and his other
friends will suffer if they do not arrange his escape [1 mark].
[10 marks]

The Laws [1 mark] who suggest that because Socrates has been well looked after by the Laws
he may not with honour disobey them [1 mark]; or other similar arguments.

The Laws argue that if Socrates dishonours the Laws by evading execution [1 mark] he will
be dishonoured both on earth and in the afterlife [1 mark].

The tricolon: pnrte maidog ... Sixatov  (lines  2-3)  [1mark]; the repetition:
OUTE ... OUBE ... OVOE ... OVSE ... ovdevi ovte  (lines  4-6) [1 mark]; the comparatives:
duewvov ... dixardtegov ... ocidtegov (lines 5-6) [1 mark]; near synonyms put together for
emphasis: gvtaduxnfoog ... avtixoxovgynoag (lines 9-10) [1 mark] a rising tricolon with
monosyllable appendage: cavTov Te xai pilovg xol Tatelde xar nudg (line 12) [2 marks];
award up to six marks for these or similar examples and a further two marks for the analysis
of at least two of the examples above.

[12 marks]
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Translate into English the section of the following passage indicated between the asterisks. A translation
of the rest of the passage appears on the facing page.

1.

Xenophon sets out to dissuade his troops from sacking Byzantium.

10

15

ol 8¢ oTEaTiATAL @G £180v ZEEVOEAVTA, TTQOCTILITTOVGL
TIOAAOL QUT® #al AEYOLoL” VOV ool EEECTLY, ® Eevopadv,
avdpl yevécbot. €xelg moOMv, €xelg TQUNQELS, EXELG
xonuata, £xelg avdoog ToohToug Vv Av, €l BovAolo, 60
Te NUAG OVNOOLC ®Ol TUELG OE PEYOV TIOLTICALUEV.

*0 8" amexglvato AAN €0 ye AEYETE %Ol TTOLNO® TOUTO,
el 8¢ tovtev £mbuucite. BE€cbe TO OmMAa €v TGEEL Qg
TOY1oTo" BOLAOUEVOG AODTOLE XOTNQEULCAL Ol AVTOG TE
TaQNyyOa TOUTO %ol TOUg GAMOLG EXEAVE TIOQEYYLAV
Ti0ecBat Ta Omha. ol 8€ adTol VY £AVTAV TATTOUEVOL O1
Te OTALTOL €v OMY® YoOV® €1g OXT® £YEVOVTO Ol Ol
TEATAOTOL £TTL TO XE£QAC EXATEQOV TTAQESESQoUNHECAV. *

TO 8¢ ywotov olov maAloTov €xtatacbal €oTL TO
OQGXLOV XOAOVUEVOV EQNULOV OLXLEY X0l TTESLVOV. ETEL 8
EXEITO Ta OMAO Ol XATNQEMIOONCAV OLYXAAET O
ZevoE@V THV 6TEATLAY xal AEYEL TASE.

[35 marks]

XENOPHON Anabasis 7.1.21-4
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As soon as the soldiers saw Xenophon many of them rushed towards him and said: Now is
your opportunity, Xenophon to prove yourself a man. You have a city, you have triremes,
you have money, you have a great number of men. Now, should you so wish, you would|
render us a service and we should make you great”.

The place where they were, indeed, is a most excellent one for drawing
out a line of troops, being so-called Thracian Square which is free of Total marks
houses and level. @ As soon as their arms were grounded and they had

quietened down, Xenophon called the troops together and spoke as follows.
C. L. Brownson (adapted)
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Each word is assigned 0 or 1 or 2 points. Those worth 1 or 2 points indicate this value immediately
following the word, while those with zero points have no numerical indication.

A 1-point word (for example, an adverb or conjunction) needs only a correct translation to get the point.
For a two-point word, if the translation persuades you that the candidate understands the meaning of the
word, one point is awarded; if the candidate persuades you that the grammar of the word is understood,
then the second point is awarded.

When two words are joined by “_” they are to be treated as one word. A two-word phrase worth two
points includes one point for vocabulary and one point for grammar. The vocabulary point is awarded
only if both words are translated correctly in context; a vocabulary error in either or both words results in
no points for vocabulary. The grammar point is awarded if the phrase’s grammar is understood correctly.

In this particular case, there are 70 possible points.
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6@ O OmexQivaTo@ ‘AMN® cU@ YE AEYETE@ X4l OGO TaDTC®

ei0 8¢ Tovteve Embuucite.@ 17
0éche® To SmAa@ £V TOiEle dG@ TAxioTa@ PovAducvoce avTOVGE
XOTNEENLCULg %ol OVTOCE TE TOQNYYV0® Tabta® *Ol TOUG GAAOLCE
Enéloe® TOQEYYVAVE Tifeof® TG OmAa.@ 30
oi 8 avTol®@ VP €avTdve TOTTOUEVOLE of Te dOmAitan@ &V OMyoe

XQ0voe €lg OxTO@ E€YEVOVTO® w0l oi meitacTai@ EML TO XEQUSe
EXATEQOVE TOQEDESQAUNKECOY. @ 23

TOTAL: 70
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Answer all the questions from three passages taken from two genres only.

Genre: Epic

Question 1.

(a)

(b)

(c)
(d)

(e)

Homer Iliad 6.45-60

45 *Adpnaros & &p’ &meira AaBov é\looero yovvwye
“ (dypet, *Atpéos vié, oV & &fia défar dmowar
ToANL O év drewd marpds Keyunhia Kelral,
XaAKkds T€ xpvads Te moNUKunTIS Te oidnpos,
&Y kév ToL Xapioaito warnp dmepeioy’ dmowa,
L4 3 N \ / 3 9 N \ b ~ bh
50 € kev éue (wov mwembboir’ émwl vmuoiy Axaiby.
Qs ¢pdro, ® & dpa Bvudy vl oribecoi Emele
kal O pw Tay’ éuelke foas éml vias *Ayaldy
/ ? 4 4 p) >3 /
ddoew & Oepdmovrt karaéuer: AN "Ayauéuvov
avrios \fe Béwy, kal opokAfoas émos ndar
55 ““@ mémov, & Mevéhae, Tin d¢ ov kndear olTws
&vdpdv; 1 ool dpioTa wemoinTaL kaTd olkoy
mpos Tpdwy; Tdv pi Tis Ymexdiyor almvy Shebpov
Xetpds 6 nuerépas, und 8v Twa yaorépl piTp
~ by 4 4 R /7 > 3 o /
kobpov éovra ¢épol, und 0s PUyol, AN aua TaAvTES
60 ’INlov éfamololar’ axndeoror kal dpavror.”

What has happened before this passage?
Translate *Adpnoros ... &mowa (lines 45-46).

Scan lines 47-48 (moAA& O ... Te aidnpos).

What do we learn about Agamemnon and Menelaos from this passage?
Which of them is more typical of Homeric heroes?

Discuss the conduct of Adrestos, Menelaos and Agamemnon in this passage;
how far is each behaving conventionally?

[2 marks]

[3 marks]

[2 marks]

[3 marks]

[5 marks]



Genre: Epic

Question 2.

(@)

(b)

(©)

(d)

(e)

235

240

245

250

-3- SPEC/2/GREEK/SP2/ENG/TZ0/XX

Homer lliad 6.232-250

‘Qs dpa povicavre, kad inTwr difavre,
X€lpas T GANfAwy AaBérny kal moTdTAUTO"
&0’ alre Thavko Kpovidns ppévas ééero Zels,
& W
os mpos Tvdeldny Awopidea Tevxe duelBe

/ 4 (4 4 b | /7
Xpvoea xalkeiwy, ékaTouBor €vveaBolwy.

“Exrwp 8 @s Skawds Te milas kal ¢nyov ikavep,
apd’ apa pw Tpdwy dloxol Oéov nde Bdyarpes
elpduevar maldds T€ kaoLyviTovs Te éras Te

\ ’ 4 3 ¥ ~ 5/ 3 4
kal mooiast 0 O émeira feols evyeobal avayel

/ [3 I3 - ~ / LI B 0
'n'ao"as éfelns: modAfjou.d¢ kide édiimro.
> @ \ /3y

AXX" Gre dn) Tlpiapoto dduov meptkaldé {xkave,
eariis albovdonol Tervypévor—adrap & adTd
mevrikovr Evegay OdAapor fearolo Aiboto,
mAnaior dAANAwy dedunuévor: Evla d¢ maides

~ N ~ ) é
kouuévro Ilpidpoto wapd pvmorfis dAdyoLat
3 Iy
xovpdwy d érépwlev évavrior évdobey adlijs
00ex’ éoav Téyeor Balauor fearolo Aibowo,
mAnalov GANfAwy dedunuévor évlba d¢ yauBpol
kouuévro Ilpiapoto mwap’ aldoiys GAdyotowv.

Place this passage in context.

Explain the humour of év8° alTe T'\avke ... évveaBoiwy (lines 234-236).

”EKTwp d os ... f‘(l)ﬁ'n’TO (lines 237-241). What does this passage reveal

about the status of Hector among the Trojans?

Explain the sleeping arrangements in Troy.

Analyse Homer’s narrative skill in this passage.

[2 marks]

[2 marks]

[3 marks]

[3 marks]

[5 marks]

Turn over
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Genre: Historiography

Question 3.

(@)

(b)
(©)

(d)

(e)

Thucydides 2.40.

10

“ ®uhokaloluéy Te yap per evrelelas kal ¢ihooododuer
b4 7 / s ~ A~ A /
avev palakias® TAOUT@® Te €pyov MaAAov kaip®d 7 Aoyov
KOuTo Xpdueda, kal T0 méveabar oy Suoloyely Twi aloxpdy,
3 \ \ / b4 » ¥ ~ 24 ~ b3 Id
arAa w1 drapetyew épyw aloyilov. &vi Te TOLS adTols olkelwy
dpa kal mONTIKOY émuéNeta, Kal €Tépols Tpos Epya TETpaji-
pévols Ta molirika piy évdeds yvdvar udvor yap T Te

\ ~ I4 3 ) / 3 3 ~ g
UNO€Y TOVOE METEXOVTA OUK ATPAYMOVA, AAN QX PELOV VOWL-

v e S\ 7 4 A\ 9 / b ~
(opev, kal oi adrol froi kplvouér ye 1) évbvuovmueda p0ds
\ T4 J \ ’ ~ b4 / < /
T4 TPAYMATA, OV TOUS AOYous Tols €pyols BAaBny nyovuevol,
~ ~ A & ~
aA\a u1 mpodidayOijvar paAhov Aoy mpdrepov 1 éml & O€l
¥ b ~ 'é \ \ \ 7 ¥ ¢/
épyw éNOetv.  duapepovTws yap 01 Kal TOOE €XOUEV WOTE
~ D /
TOAUAY T€ ol alrol pdAloTa Kal Tepl @V EmLXELPTOMEY
ékhoyilecbarr & Tols dMois duabia pev Opdocos, Aoyioios
0¢ Okvov Pépet.

What was the occasion of this speech and who delivered it?

Translate @tAokahoduéy ... aloypov (lines 1-3).

Identify from this passage three respects in which the speaker claims that

Athenian life is superior to that of others.

Take from this passage any two respects in which you agree or disagree with the

speaker and justify your views.

With what city does the speaker especially contrast Athens, and why?

[2 marks]

[4 marks]

[3 marks]

[4 marks]

[2 marks]
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Genre: Historiography

Question 4. Thucydides 2.44

(a)

(b)

(©)

(d)

(e)

¢ s o \ \ ~ ~ ’ o / 5
Av 0mep kal Tovs TOGVOE YUV Tokéas, OUOL TAPETTE, OUK

b4 / ~ N\ / p ] 7 \
oAogpUpouar maAlov 1 mapapvdnoopal. €y mOAVTPOTOLS Yap
Evpdopals émioTavrar Tpagpévrest 1O O elrvxés, ob av THS
€UmpemerTATns AAXWwT iy, Gomep 0lde wey vV, TEAEUTTS, VpELS
5 8¢ ANUms, kal ofs évevdapovijoal Te 6 PBlos ouolws kal év-

~ 4 \ \ O3 ? £, Y.
Tehevrioar Evvenerpnfn. xalemov uev odv olda welbew &b,
®v kal moANdkis €fere Umopriuara év N wy edrvylats, als

. D b
more Kal adrol NydAlecle kal AUmn ovx @v dv Tis py
mwelpaoduevos ayabdy oreploknral, GAN ol dv édas yevd-
~ ~ ¥
10  pevos ddapedff. kaprepety ¢ xp1) kal dAAwy Taidwy éATidL,
ols éri fHAikla Tékvwow molelobar

otk SAodipouar parlov i mapapvlioomar (lines 1-2). What is the
difference in meaning between the two verbs?

oide pev ... Uuels d¢ (lines 4-5). Who are these two classes of people and
how does the speaker think we should think of them?

What part of his advice does the speaker think will be Xa/\em\)v (line 6),
and for whom?

Estimate what proportion of those being addressed would be in the category
of ols &ri NAikla Tékvwow moielobar (line 11). What is the speaker’s
advice to them, and how are they likely to respond?

Give three reasons why, in the opinion of the speaker, his advice, referred to
in (d), would be of benefit.

[2 marks]

[4 marks]

[3 marks]

[3 marks]

[3 marks]

Turn over



Genre: Tragedy

Question 5.

(a)

(b)

(©)

(d)
(e)

-6— SPEC/2/GREEK/SP2/ENG/TZ0/XX

Sophocles Oedipus Tyrannus 300-315

300 Ou.

305

310

315

o mavra voudv Tewpecia, 618aktd Te
dppnTd T 0vpdvid Te kai xbovocTi B,
mOAw wév, € kai uy BAémeic, poveic 8’ Suwc
ol vécw cUvecTwv ¢ cé& mpocTdv
cwmipd T, wvaf, povvov éfevpickopev.
Doifloc ydp, € kai uy kAvewc T@V dyyélwy
P, :

méupacw Yuiv dvrémepev, éxdvcy
uévny dv éAfeiv Tovde ToU vocruaToc;
el Tovc ktavévrac Adiov pabévrec €
kTevaiuey, 1) ynic pvyddac éxkmeuaipeda.

\ > s 7 W I I > ~ s
cv 6” ovv plovicac uir’ dn’ olwvdv ddmv

’ 3 b 3 ~ Eld 4 4
it €l T’ AAAYY pavriknc éxerc 686,
pucat ceavTov kal méAw, picar 6’ éué,
picat 8¢ wav piacua 70U TefvmrdToc.
€v col yap écuév- avdpa 6’ wdeleiv dd’ &v
éxoL € kai dvvaito kdAAicToc movawy.

Give a full account of what had occured earlier to persuade Oedipus to

summon Tiresias.

818aktd ... xfovocTiB7 (lines 300-301). What four methods of divination
does Oedipus suggest that Tiresias might use?

Scan lines 303-304 (oiq vécw ... éevpickopev).

Translate €v col ydp ... kdAAicToc mévwv (lines 314-315).

Discuss the likely impact on the audience of Tiresias’ appearance and speech
immediately after this speech by Oedipus.

[3 marks]

[4 marks]

[2 marks]

[3 marks]

[3 marks]



Genre: Tragedy

Question 6.

(a)

(b)

(©)

(d)

(e)
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Sophocles Oedipus Tyrannus 1165-1185
1165 Oe.  un mpoc Oedv, uij, Sécmol’, icTéper mAéov.
O.. SAwAac, € ce TavT éprjcopar waAw.
Oc.  taov Aaiov Tolvuv Tic v tyevwnudrwvt.
O.. 7 800Aoc, 7 keivov Tic éyyemic yeydc;
Oe.  olpot, mpoc alTd Y €lul T Sewd Aéyew.
1170 Ou  kdywy’ dkovew: dAX’ Suwc diovcTéov.
Oc.  keivov yé 1oL 87) maic éxAriled 1 8’ écw
kdAAicT’ &y elmor ¢ yuvy 7d6’ Wc éyet.
Oc 7% yap 6idwcw 1j6€ cot;  Be. pdAwct, dvaé.
O.  dcmpoctiypeiac; Oe. ¢ dvardcaul vuv.
1175 Ou  7exovca TAiuwy;  Oe. fechpdrwy v’ dxvw
KaKwy.
O.  moiwv; Oe. kTeveiv viv Tovc TekSvTac v Adyoc.
O.  7ac §97 ddrikac 7 yépovr Thde cU;
Oe.  katowkticac, & 8écmol’, e dAAnv yldva
dokwv dmoicew, avToc évlev Bv- 6 ¢
1180 kdK’ éc péyicr écwcev. € yap avToc €
8v ¢ncw ovToc, ich dvcmoTrocC yeydc.
Ou..  (ov lo¥-Td mdvT dv é&rol cad.
0 Pdc, TeAevTaidv ce mpocBAépaiut viv,
Scric médacuar pic T dd’ wv ov xpiy, Vv oic T
1185 0V Xp1V OulAdY, olc 7€ 1’ ovk éSel kTAVDY.
At this point in the play what does Oedipus know? What does he suspect? [4 marks]
In this passage, what is the @gpdnev trying to achieve? What is Oedipus trying

to achieve? [4 marks]
7 8" écw ... Td0” wc éyec (lines 1171-1172). For what two reasons does the
Oednwv make this suggestion? [2 marks]
What features of Oedipus’ character are revealed by this passage? [2 marks]
By means of close textual analysis, suggest three ways in which this passage
displays Sophocles’ dramatic skill? [3 marks]

Turn over



Genre: Comedy

Question 7.

175

180

185

190
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Aristophanes Frogs 173-192

NEKPOZ
wéa &rTa; Au  Tavrl. Ne.  0vo dpayuas
pioBov TeNels;
A pa A AN Enarrov. Ne. vmayed’ dueis tis 6dob.

Av dvdpewor @ dayudyl, éaw fupPé i dot.
Ne. € u1y karabijoes 8vo dpayuds, uy diakéyov.
Au N4’ évvé’ 8Bolots. Ne. avaBuolny vvv mdlw.
Za. s oceuvos 6 kardparost ovk oludferai;
~ /
éyw Badioduat. Ai xpnoTos €l kal yevvddas.
X@pdpey éml TO TAolov.
XAPON
wom mapaBaiod.
Za. tovrl i o1 Ai.  Todro;  ANuwvn vy Ala
atiry *oriv Wy éppale, kal mAotdy Y’ Gpd.
L \ \ ~ b4 > A 4 C /
Za. v tov [Tooedd kaore y 6 Xapwy ovrooi.
~ < ~ o 7 i ~ O 2
A xalp’ & Xdpwv, xailp’ & Xdapwy, xaip’ & Xapwy.
~ A
Xa. 7is €ls dvamailas €k Kak@V Kal TPAYMATWY;
h \
s és 10 Afbns medlov, 3 s "Ovov mhoxdg,
A 3 /7 \ ’ N\ 3\ / -
n s KepBeplovs, 7 °s xopakas, 7 “m Taivapov;

~ V¢
Au &yd. Xa. Tayéws éuBawe. A ol oxi-

oew OOKELS;
és Kopakas OVTwS; Xa. val po Al ocod y olveka.
b4 ’ ~ ~
erfBawe o). Avw. mat dedpo. Xa. dodlov ok

¥

dyw,

/ ~ ~
€l W) VEVavUaxXnKe TNV TepL TOV KPEBY.

Ea. pa Tov AL od yap AN’ érvyov dpbaruidy.



(@)
(b)

(©)

(d)

(e)
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Translate dvapewov ... w3y draléyov (lines 175-176).

What is Dionysus trying to do? Why does he seek help and advice from Heracles?
What is Xanthias trying to do?

avafoiny vvv wdl\w (line 177). What is remarkable about this reply?
What situation has led up to it?

Scan lines 189-191 (éoBatve 87 ... TGV Kpedv).

dodAov otk dyw ... dpfarudy (lines 189-192). Explain the humour of
these lines and the history that had led up to them.

[3 marks]

[3 marks]

[3 marks]

[2 marks]

[4 marks]

Turn over
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Genre: Comedy

Question 8. Aristophanes Frogs 1411-1433

Ac. dvdpes Ppilot, kdyd pev alrovs od Kpwd.
o0 yap 0. éxOpas odderépw yeriooual.
TOV pév yap nyoduar copov T4 8 fdouat.

IIAOYTON
ovdev apa mpalels Grmep NABes olveka;
1415 Aw éav d¢ kplvw; [IN.  Tov érepov AaPBwr ame,

9 5 N\ / e ) ,IAH \ /
omoTepov av kpivys, W éNOns un parny.
At evdatpovoins.  pépe mileadé pov Tadl.
éyo katiAbov éml momTiv.  TOD Xapuw;
e 3 ¢ N ~ \ \ "
W’ 7 wo\is cwletoa Tovs xopovs dyy.
[4 ’ > N\ ~ 4 /
1420 OTOTEPOS OUV av Tj TOAEL TAPALVEDTT
~ 7 /’ ~ ' ~
RAAAGY TL XpnoTov, TovTov afew pot d0KA.
~ N " D A /3 9
TPOTOV [LEV OVY TEPL AXkifSadov Tiv EXETOV
yrouny €karepos; 17 mOAls yap dvoToKel.
Ev. éxew 0¢ mepl adrod tiva yréuny; A Tiva;
1425 mofet uév, éxbalper dé, Bovherar & éxew. -
) ) . ~ ¥ / ’
GAX’ O TL VOELTOV €lTaTOY TOUTOU TEPL.
Ev. uiod mohityy, 8oris @pelety marpav
Bpadls mépuke peydia d¢ BAdmTew Taxys,
~ ~ /7
Kal wopLYLOY avT® TR wOAEL O amxavov.
3 A
1430  Aw €0y & Idoedor: ov 8¢ Tiva yvduny éxeis;
AO’ bJ \ A/ / ' ’A 4
l. 0V Xpn A€ovTos oKUuvoy €v wONeL Tpédely,
A b } ~ ~ ’ € ~
nv & ékTpapf Tis, Tols TpomoLs VENpPETELY.
N b / \ ~ / Yy
A vy Tov Ala Tov cwtipa dvokpiTws Y EXw*



(a)

(b)

(©)

(d)

(e)
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TOv pév yap nyoduar copov T¢ 8 fidomar (line 1413). Name the two
men referred to by Dionysus. Which of them in your opinion was TOV pe€v and
which 7$ 8™ Justify your decision.

Where has Dionysus intended to go? What had he intended to do when he
arrived there? What was his ultimate aim?

mp&dTov pev olv ... duoTokel (lines 1422-1423). Give a brief account of
Alcibiades’ life to explain why 77 ToAts dvaTokel.

pLod molirny ... duixavov (lines 1427-1429). What is Euripides’ view
of Alcibiades?

7"\;1} ¥ éKTpa¢f] Tis ... vmmperelw (line 1432). What is Aeschylus’ view
of Alcibiades?

[3 marks]

[3 marks]

[3 marks]

[3 marks]

[3 marks]

Turn over
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Genre: Philosophy

Question 9.

(a)

(b)
(©)

(d)

(e)

Plato Crito 49¢5-50c2

30, Aéyw O ad 10 pera Tobro, paAlov O épwrd:
/7 A Y ¢ )\ / 8/ ¥ / R
mérepor & Gv Tis Opodoynon Te OSlkaia Svra momTéov 1)
¢bamarnréor;
KP. TIowmréor.
5 2Q. ’Ex tovrwv 8 &bper.  amidvres évbévde muels um
meloavTes TNY TWONY TOTEPOY KaKBS Tvas -TOLODLEY, Kal
~ & ¢ ~ o ~
rabra obs fikiora det, 7 o¥; kal éuuévouer ols dpoloyr-
N\
oaper dikalos odaw 7 od;
[~ \ ~
KP. Otk éw, & Sdkpares, dmrokpivaciar mpds b épwras:
10 oV yap évrvod.
SQ. TANN $de oxdmer. €l péNovow npuly vbévde €lre
amodidpdokew, €6 Smws det dvoudoar Tovro, éNOdvres ol
’ A \ \ (o] 4 p) / b4 113 y i
Vool Kal TO Kooy TNS moAews émoravres épowror  Elmé
’a‘ A /7 3 ~ ¥ ~ > A Vs
pot, @ ZwkpaTes, TL €V v® Exels TOLEW; AANO TL 1) TOUT®
~ ¥ 2 9 ~ ~ / 7 <~ 5 /
15 13 &pyw & émixepels dwavof) Tols Te vopovs Huas amoréoat
o ~ a7
kal oumacay ™y wONw TO 0OV pépos; 7 dokel ooi olov Te
¢ty exelvmy T Aw €l 1 u a ipOar, év 7 v
érL éxelvmy Y moAw elvar kal pn avarerpadbai, év 7
al yevdpevar dikar undev loxdwaw dANL Imo WDuwTdy axvpol
’ b /7 » /7 2 " X 7/
Te yiyvwvrar kal dadlelpwvrar;” Ti épodper, @ Kpitwy,
20 7pds Tadra kal dAAa Towabra; moAAG yap dv Tis éxou
/7 ~ ~
I ws Te kal pnTwp, elmely Ymep TovTov TOD VPOV ATOAA-
pévov Os tas dikas Tas dikacOeloas mpoorarTel kuplas elva.
\ s ~ \ 5 N [4 €c > 7 N < < ’ \
7 épovuey mpos avrovs oTe < "Hdiker yap muas 1 molis kal
~ ~ \ ~
olk plds v dikny ékpwev; ” Tabdra 1) T{ époduev;

Where is Socrates? Why is he there? What is Crito trying to persuade him
to do?

Translate amidvres évOévde Tuels ... det, 7 ov (lines 5-7).

Describe the method of argument to be found in the passage just translated

in (b).

ol vouoL kal TO kowov TN MONews (lines 12-13).  What are these
concepts? To what extent and in what way do you believe that Socrates is
logically justified in using them as he does?

7 épobuev mwpods avrovs ... T époduer (lines 23-24). How does Socrates
go on to counter that argument?

[3 marks]

[3 marks]

[3 marks]

[4 marks]

[2 marks]
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Genre: Philosophy

Question 10. Plato Crito 52b1-d6

(a)

(b)

(©)

(d)

(e)

10

15

20

~ \ | &
¢patery yap av oTL
a’s‘ﬂ 4 ! <~ / / /7 o
ZwKpaTes, (Leyara nuily TOUTWY TEKUNPLA €0TLY, OTL TOL
\ ¢ ~ 9 4 \ ¢ 4 ~ N b ~ ¥
Kl 7JELS NPETKOUEY KAl T) TOALS® OV yap Ay TWOTE TGOV AAAwY
Afpvaloy aravtwy diadepdvTws v adri émedijues €l paj oot
. P ) N Ul
4 b4 b ] Y ~
dapepovTws rpeokey, kal oUT éml Oewplay wodmor €Kk THS
mohews &fnAfes, 8t pn dmal els 'lobBudv, olre AXooe
5 ’ ) 7 ’ ¥ ” y ,
oUdaudoe, €l W1 woL OTPATEVTOUEVOS, 0UTE AANANY dmodnuiay
2 / 4 4 [N ¥ IaY 3 7
émouow wawoTE Gomep ol aAlot dvlpwmot, 0vd émbuuia o€
dAAns mOAews 00d¢ GAAwY vopwy éNaBev eldévar, AANG fuels
[4 \ ¢ ¢ 4 4 ¢/ g ¢ ~
oot tkavol Tuey kal 7 TueTépa mOALs olTw odddpa Nuas
npod kal wuoldyets kal’ Nuas molrevoeobal, Td T€ dANa kal
oy poncy ) Ny ) Kal
~ - A < pl L4 ~ 4
maidas év avTf) émou)ow, @S APETKOVONS TOL TH)S TONEws. €Tt
/ b) D A ~ 7 30 ~ / > /
Tolvvr &v adrfi Tf dikn ¢y oou Puyns Twoacbar €l éBov-
~ ~ ’ ~
Aov, kal Omep viv Gkolons T7s WONEws €mixeLpels, TOTE
[ / ~ \ \ / \ 3 < b b)
éxodons moijoat. oV d¢ TOTE pév éxaMwmifov @s odk dya-
~ b] /4 ) \ < ~ € 54 \ ~
vakr®y €l déot TeOvdvar o€, dGANL npov, ws éPpnaba, wpo TN
~ ’ . ¥ ) 3y 7 . \ ’ ) /’
¢pvyns Bavaror: viv 3¢ olT éxelvovs Tovs Adyovs aloxvvy,
olre Hudy TOV vopwy évrpémy, émixepdy dadbetpat, Tpdr-
Tels T€ dmep &y dohos 6 pavAdraros mpdfeiev, dmodidpdokew
9 ~ N N\ / \ \ / >
émuxeLpdy mapa Tas ovvbnkas Te kal Tas ouoloylas kad bs
nuly cvvéfov mokiredeafar. mpdTov uev oy iy TOUT alTo
~ !
amdkpwat, €l GAn07) Néyopev ¢ackovtés oe @uohoynkéval
/7 y ¢ ~ P b) b 3 / A b by ~ 3
moliredaeofar kal 7Huas €épyw aAX’ ov Aoyw, 1 ovk.aAnodn.
~ ~ o) A ~
7{ pdpev mpos Tavra, & Kpirwv; aANo v 7 époloyduev;

What is the fundamental argument used by the Laws in this passage?

Give four reasons why, according to the Laws, Socrates has, by his conduct,

forfeited the right to disobey them.

Discuss how the style of the passage reinforces the argument.

Show how the Laws are able to suggest that if Socrates tries to leave he will be

behaving inconsistently with his conduct at the trail.

Give you own assessment of the validity of the arguments attributed to the Laws

in this passage.

[2 marks]

[4 marks]

[3 marks]

[3 marks]

[3 marks]
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Epic

(@)

(b)

(©)
(d)

€)

(@)

(b)

(©)

(d)

€)
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Adrestos had fallen from his chariot [1 mark] and Menelaus was standing over him
[1 mark] with the apparent intention of killing him [1 mark]. Award any two of
these marks.

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

Menelaus is more willing to negotiate [1 mark] Agamemnon is more brutal [1 mark].
Any reasonable account of which is more typical should be awarded [1 mark].

Adrestos, defeated, asks his conqueror to spare his life in exchange for a ransom [1 mark];
Menelaos is willing to accept the ransom [1 mark] until Agamemnon persuades him not to
[1 mark]. Adrestos and, at first, Menelaos behave entirely conventionally [1 mark] but
Agamemnon, in successfully persuading Menelaos not to accept the ransom is probably less
conventional [1 mark].

[15 marks]

This is the end of the Glaucos and Diomedes encounter [1 mark] in which they discover
guest-friendship and agree not to fight [1 mark].

They exchange armour [1 mark] but Glaucos’ is worth more than ten times Diomedes’
[1 mark].

The women greet Hector as he enters the city [1 mark], they assume he has news and ask him
for it [1 mark], he assumes that he can rebuke and command Paris [1 mark].
Other ideas on their merits.

Each of the fifty sons of Priam has an interconnecting room for himself and his wife on one
side of the courtyard [1 mark]; the married daughters have the same arrangement with their
husbands [1 mark] on the other side of the courtyard [1 mark].

The climax of the joke is achieved in four ringing words in line 235 [1 mark]; at 238-239,
a balance is neatly struck between wives and daughters [1 mark] seeking news [1 mark]
and sons, brothers and husbands [1 mark]; the subject of the news [1 mark] at lines 242-250
there is a detailed ekphrasis (no need to give the technical term) with much balancing
repetition [1 mark]. Any five of these points or similar ones.

[15 marks]
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Historiography

3.

(@)
(b)

(©)
(d)
€)

(@)

(b)

(©)

(d)

(€)

A ceremony for Athens’ dead soldiers [1 mark] presided over by Pericles [1 mark].

[4 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should
be awarded [3 marks]. Answers with two major errors (or four minor errors)
attract [2 marks]. Answers with three major errors (or equivalent with minor errors)
are awarded [1 mark]. Otherwise, no mark.

There is a good choice [3 marks].
Judge on merits [4 marks].
Sparta [1 mark], the immediate threat [1 mark].

[15 marks]
To lament [1 mark] and to encourage [1 mark]; other views on their merits (see LSJ).
The dead [1 mark] have achieved honour [1 mark], the bereaved [1 mark] grief [1 mark].
That the dead have gone to glory [1 mark] will be difficult to accept [1 mark] by those who
are reminded of what they have lost when they see those who have not lost men

[1 mark].

It would be small [1 mark]; the advice would be to have more children [1 mark],
advice unlikely to be well received [1 mark].

Cheering up the bereaved [1 mark], replacing the dead [1 mark], increasing security
[1 mark].
[15 marks]



Tragedy

(b)

(©)
(d)

(€)

(b)

(©)

(d)
(€)
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There had been a plague [1 mark], Creon had been sent to find out why [1 mark],
his message had been incomplete [1 mark].

Things teachable [1 mark], things not to be spoken [1 mark], heavenly things [1 mark]
and earth creeping things [1 mark].

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should
be awarded [2 marks]. Answers with two major errors (or four minor errors) attract
[1 mark]. Otherwise, no mark.

Judge on merits [3 marks].

[15 marks]
He knows that he was not the son of Polybus [1 mark] but was a foundling [1 mark];
he feared that he was the killer of Laius [1 mark] and so the cause of the plague [1 mark].
The ©esednov wants to give as little away as possible [1 mark] and to save his own
life [1 mark]. Oedipus wants the truth [1 mark] and, in particular whether he was the

foundling [1 mark].

Jocasta is genuinely in a better position to reply [1 mark]; also bringing Jocasta into it should
detach him [1 mark].

Anger, impatience? Award plausible replies [2 marks].

Judge on merits [3 marks].
[15 marks]



Comedy

(b)

(©

(d)
€)

(b)

(©
(d)

€)

-5- SPEC/2/GREEK/SP2/ENG/TZ0/XXIM

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

Dionysus wants to bring a dead poet up to protect dramatic festivals [1 mark].
Heracles had already visited the Underworld [1 mark]. Xanthias wanted as easy a life as he
could muster [1 mark].

Xanthias wants to hire the corpse to carry his load [1 mark]; the fee offered is too little for the
corpse [1 mark] and he threatens to return to life [1 mark].

Mark only for length of syllables. [1 mark] per line if all correct, no mark otherwise.

At the battle of Arginusae [1 mark] the Athenians lost but the generals failed to rescue their
sailors [1 mark]. Charon treats Dionysus like a slave [1 mark] and Dionysus responds by
saying that he was willing to carry a slave only if he had the honour of having served at

Arginusae [1 mark].
[15 marks]

Euripides is probably cogpos [1 mark] but Dionysus is delighted by Aeschylus [1 mark].
The opposite view is sometimes held; judge on strength of argument [1 mark].

The Underworld [1 mark], to recruit a poet [1 mark], to restore the Athenian dramatic
festivals [1 mark].

They will answer in various ways; judge them on merit [3 marks].

Slow to help his country, swift to harm her, clever for himself, risky for the state.
[1 mark] each for these or similar valid points up to a maximum of [3 marks].

Better not to have had him in the first place [1 mark] but now that they have him [1 mark] it
would be best to give way to him [1 mark].

[15 marks]
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Philosophy

9.

10.

(@)

(b)

(©)

(d)

(€)

(@)

(b)
(©
(d)

(€)

Socrates is in prison [1 mark]; he has been tried and sentenced to death [1 mark];
Crito wants him to flee [1 mark].

[3 marks] for a correct answer or an answer with no more than one minor error
(tense, number etc.). Answers with two or three minor errors or one major error should be
awarded [2 marks]. Answers with two major errors (or four minor errors) award [1 mark].
Otherwise, no mark.

Question and answer [1 mark]. Getting the victims genuinely agreeing to a proposition
[1 mark] and then challenging them with an apparently similar proposition [1 mark].
The question will attract a range of answers; judge them on their merits.

The Laws [1 mark] and the ‘Commonwealth’ of the state [1 mark]. They are abstracts and
Plato treats them as self-conscious sentient beings [1 mark], deceived by the fact that though
they are made up of sentient beings they are not themselves sentient [1 mark]. Other ideas on
their merits.

The state may have treated him badly [1 mark] but that does not release him from the

obligation of obedience to the state come what may [1 mark].
[15 marks]

Socrates has had no complaints about the Laws and has benefited from them [1 mark]
so that he has forfeited his right to complain now [1 mark].

There is a long list; [1 mark] for each of four valid examples [4 marks].

Judge on merits; this should attract a range of valid responses [3 marks].

At the trial, he had argued that he would rather die than go into exile [1 mark]; he had also
offered a paltry alternative to death [1 mark] and he consistently indicated that at his age he

should be ready to die [1 mark]. Other accounts on their merits.

Mark as short essay [3 marks].
[15 marks]
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